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Equation Vertex Axis of Max/Min Transformation
Symmetry Value (compared to y=x%)
- Shift left 4 units, up 5 units
Y=-3(x+4)%+5 (-4,5) X =-4 Max of 5 - Vertical stretch by a factor of 3

- reflection in the x-axis (opens
down)

1
y= §(x—Z)Z—z

y=-5x2+2

- Shift right 10 units, down 5 units
- vertical compression by a factor

1
of =
f8

- Shift left 3 units

- Vertical stretch by a factor of 2
- Reflection in the x-axis (opens
down)
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[Relating Quadratic Functions in Three Forms to Real-World Situations

Parker and his friends were practicing throwing a football in the back yard. They were competing to see
who could throw the ball the farthest. The graph below illustrates one of Parker’s tosses.

The path of the football can be modeled with a quadratic function. Below are three different forms of the
quadratic function that models the path of Parker’s football.

« What information about the path of the football can you determine from each form of the equation?
Write your responses in context.

f(x) = —0.04x> + 0.72x + 5.76 flx) =—0.04(x —9)* +9 fx) =

0.04(x + 6)(x — 24)

« Provide a scale for the vertical and horizontal axes on the graph above using the information from
the equations.




